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Seceion-t (English)

2o00] WD IR @R ONNEN O @y one of the following v .

¢ (a) Viltlaye Lire ix bewer than cin Hife (h) atriotism (c) A Foorball Match
Q:02  Write an application (o your principal requesting him to grant your leave for one week.

OR
Write a letter to your brother inviting him to attend Annual Parents Day.
Q:03  Write down the Synouyms of the following words (Any Ten).

Hearmiul - 7 Obesity Addictive
Dixgu-i.w Dispure Resolve
Mingle Cross Menial
Discrimination Fetch Inspire

Q:04 Do as Directed.

i) She cooks the meal. (Change into Past Indefinite Tense)
i)  John played Squash yesterday. (Change into Interrogative)
iii)  This is the house ___ Jameel built. (Put suitable relative pronoun)
iv)  If your wear dark clothes you ____ your eyes. (Protect) (Put suitable verb form)
) lagree __ you. (Use preposition)
Q:05 MCQOs
Note:- Choaose the correct option and write it in Correct Option’s Column. c(‘;"(d
— iption
q Be careful when you walk the street. You may encounter stray dogs there.
) a I Though | b | Above l c l Across I d l up
2 While waiting of for my train, I took a walk the station.
: a I on [b l around I ¢ I onto I d I in
3 The poachers go the forest to hunt animals for their hide.
’ a I on I b l through ] < I in l d I over
4 The door was locked, so I shoved the letter the door.
) a ] around I b I under I c l on I d] into
5 The festival lasted all day, ended with a banguet.
= a l that [b ] who I ¢ l which l d I what
6 I am looking for someone can watch my dog while I go on vacation.
: a which b who c whom I d l that
4 The police needed details could help identify the robber.
) a l who I b I whatever I c I that I d I what
8 Ali respects my brother, is senior to him.
) a I whose ] b ] who l ¢ ] whoni [ d I that
°. This is the pen I gifted him.
a I whose ] bf who ] ¢ I wihiom [ d I that
10. [Let's go for a walk the shop to buy some grocery
o l o | b | past | c i around ] d I N.O.T
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Section-II (Mathematics)

Note: _Attempt any four questions from the following

Q: 01 IfIf A={1,3,5,7,9} and B={5,6,7,8} and U={1,2,3,...,10} then prove that (AUB)' = A' n B’
a b] [3 -—1] _ [1 0]
102 = then find a,b,cand d
e:oz g gl+[; ol=lo 1 /
-3x . . .
Q: 03 Resolve DD into partial fractions.
Q: 04 Prove tan® = sinfV1 + tan?6
Q: 05 Find 0, if I=20cm and r=5cm
Note:- Choose the correct option and write it in Correct Option'’s Column. (;;;:::’
1 IfA={ 1,2, 3,4} and B= {24, 6} then AAB =
al (13 o] (6} [el (.36  |d] {1.2}
Which operation is not commutative
2. e it
a » m:;;;’:::,m_‘_ b Union ¢ Difference d intersection
Which one is always is bijective
3. -one
a Onto function | b| One-one function | ¢ Into function d Elne:one ;
corresponding
a For matrix A, (A~")"!
| a A b -A ¢ At |a A~
" The quadratic equation whose roots are complex cube roots
al x*?-x-1=0 |[b] x*-x+1=0 |e| x*+x4+1=0 |d| x*+x-1=0
6 The sum of central angles of all the arcs of a circle is
al 180° | 5] 360" | | 300° | a]| 1000
- The system of measurement in which angle is measured in radian is called
a| CGS system | 6] Sexagesimal | c| MKS system |d|NoOT
8 10° =
| a 600- | b 3600- | ¢ 6000 |d 600
g, | 5in*0 + cos?6 =
Al 2 | 5] -2 | c] / | a| -1
tanBcotl =
10,
A 2 b -2 ¢ / d -1
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Section-dI (Biology)

Q: 0l Define cell and how cell was discovered?

Q: 02 Define following terms:

(i) Digestion

(ii) Breathing

Q: 03 What is pollution?

Q: 04 Differentiate between photosynthesis and respiration.
Q: 05 Write five functions of Endoskeleton.
f . P - ’ Correct
Note:~- Choose the correct option and write it in Correct Option's Column. Oprion

Digestive system is an example of

! a Tissue System b Organ System c Celis System d Cell
3 Deficiency of vitamin — K cause

a Rickets b Anemia c Scurvy d Beriberi
3 Which is an example of organelle?

a Mitochondria b Protoplasm c Cytoplasm d Cell
’ The sexual organ of plant is ,

a Flower b Fruit c Seed d Leaf
s Total number of bio element is

a 16 b 14 c 15 d 12
p The movement of organic materials (Food) take place through.

al Xylem I b ] Vessels [ c | Tracheid | d l Phloem

7 |arecalled __.

The area where living organism interact with non living components of the environment

a Population b Community c Ecosystem d Species
i Which of these are involved in the clotting of blood?

a Platelets b Hemoglobin c Albumin d Globulin
o In Human heart blood returning from lungs first drains into the.

a Left atrium b Left ventricle c| Right Atrium d | Right Ventricle
14 Unicellular is "

a Rabbit b Euglena c Horse d Frog
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Section-tI1 ¢€ hemisery & Physios)

Note: _Attempt any two questions from cach subject,

Chemistry

Q: 01 Differentiate between saturated and unsaturated compound hydrocarbons,

Q: 02 Describe vitamins and types of vitamins,

Q: 03 Define any two of the followings.

(i) Hard and soft water (ii) Vital force theory

Physics
Q: 01 State Coulomb’s law and define the unit of charge?

Q: 02 Define motion and its types.
Q: 03 Whatis ripple tank?

(iii) Newtralization Reaction

Note:- Choose the correct option and write it in Correct Option's Column, :";',;:;'
: The study of properties of charges in rest and motion is called?
“Na l Electricity l b l Mechanicy [ ¢ l Muagnetism ld I NOT
2 The least count of micrometer screw gauge is?
"la l 0.01mm lb | 0. Imm l ¢ l Imm J d l 2mm
: What is a 8.1 unit of velocity?
“la Meter l b I Second ILI Meter/second l d ] NO.T
4 Which one is a vector quantity?
. l Mass b l Weight l ¢ l Time l d l Length
« Which type of wave cannot travel in vacuum?
“a Sound wave l b l Radio wave ] ¢ l Micro wave l d l X-Rays
p The fundamental unit of length is S.J units is «c.ooouvi?
" Na [ Meter l b l Kilometer l ¢ 1 Yard l d l Foot
; 10° shows ........ ”
" e Mega | 5| Giga | | Kilo | « | Peta
The value of g is?
* a 6.8m/sec’ ] b 7.8m/sec’ ¢ 8.8m/sec’ d 9.8m/sec’
[l The units of time , mass and length are:
9. B Funzl::;;fmal b Derived Units " -s'“ﬂﬂlf'"l;':;;f'y d None
| 7he distance between mean poxsition and extreme position is called
o a Displacement B Amplitude C equilibrium d ﬁ;‘;;‘;:::’;"
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Section- ) (Uridn)
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Section-11 (Computer Science)

Note: Attempt any four questions from the following
Q:01 Define the term Computer.

Q: 02 What is the difference between Application Software and System Software?
Q: 03 Define Artificial Intelligence.
Q: 04 List any five input and five output devices.

Q: 05 What is Computer Program?

Correct

Note:- Choose the correct option and write it in Correct Option’s Column. Option

The device that converts softcopy into hardcopy is:

a Printer b Plotter c Scanner d Barcode reader
The volatile memory
losses contents as manages
. possesses large .
a the power is b hardware c d IS permanent
. storage

disconnected resources

Media players are:
Business Education Entertainment Productivity
a b c d
software software software software

The device that converts hard copy into softcopy is:
a Printer b Plotter c Scanner d Barcode reader
A computer is an/a data processing machine.
a Electronic b Mechanical c Electromechanical d Electrical

Work done by the machine is called

a Input | b | Output | ¢ | Input/ Output | d | Data

The programs that are generally installed to manage and maintain overall computer resources is:

a operating system | b utility program c language translator d device driver

Modern languages use

a compiler b interpreter c convertor d assembler

A collection of wires connecting the CPU with main memory that is used to identify particular locations is:

a control bus b data bus c address bus d memory bus

10.

Work done on the machine is called

a Input b Output C Input/ Output d Data




